Complex Variable

Homework (7)
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Sol :
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 Use Fortran to make a program and do 100 loops.
	n of Zn
	Re{Zn}
	Im{Zn}
	n of Zn
	Re{Zn}
	Im{Zn}

	1
	0.5
	0.5
	51
	0.66667
	4.4409E-016

	2
	0.75
	-0.25
	52
	0.66667
	-2.2204E-016

	3
	0.625
	0.125
	53
	0.66667
	1.1102E-016

	4
	0.6875
	-0.0625
	54
	0.66667
	-5.5511E-017

	5
	0.65625
	0.03125
	55
	0.66667
	2.7756E-017

	6
	0.67188
	-0.015625
	56
	0.66667
	-1.3878E-017

	7
	0.66406
	0.0078125
	57
	0.66667
	6.9389E-018

	8
	0.66797
	-0.0039063
	58
	0.66667
	-3.4694E-018

	9
	0.66602
	0.0019531
	59
	0.66667
	1.7347E-018

	10
	0.66699
	-0.00097656
	60
	0.66667
	-8.6736E-019

	11
	0.6665
	0.00048828
	61
	0.66667
	4.3368E-019

	12
	0.66675
	-0.00024414
	62
	0.66667
	-2.1684E-019

	13
	0.66663
	0.00012207
	63
	0.66667
	1.0842E-019

	14
	0.66669
	-6.1035E-005
	64
	0.66667
	-5.421E-020

	15
	0.66666
	3.0518E-005
	65
	0.66667
	2.7105E-020

	16
	0.66667
	-1.5259E-005
	66
	0.66667
	-1.3553E-020

	17
	0.66666
	7.6294E-006
	67
	0.66667
	6.7763E-021

	18
	0.66667
	-3.8147E-006
	68
	0.66667
	-3.3881E-021

	19
	0.66667
	1.9073E-006
	69
	0.66667
	1.6941E-021

	20
	0.66667
	-9.5367E-007
	70
	0.66667
	-8.4703E-022

	21
	0.66667
	4.7684E-007
	71
	0.66667
	4.2352E-022

	22
	0.66667
	-2.3842E-007
	72
	0.66667
	-2.1176E-022

	23
	0.66667
	1.1921E-007
	73
	0.66667
	1.0588E-022

	24
	0.66667
	-5.9605E-008
	74
	0.66667
	-5.294E-023

	25
	0.66667
	2.9802E-008
	75
	0.66667
	2.647E-023

	26
	0.66667
	-1.4901E-008
	76
	0.66667
	-1.3235E-023

	27
	0.66667
	7.4506E-009
	77
	0.66667
	6.6174E-024

	28
	0.66667
	-3.7253E-009
	78
	0.66667
	-3.3087E-024

	29
	0.66667
	1.8626E-009
	79
	0.66667
	1.6544E-024

	30
	0.66667
	-9.3132E-010
	80
	0.66667
	-8.2718E-025

	31
	0.66667
	4.6566E-010
	81
	0.66667
	4.1359E-025

	32
	0.66667
	-2.3283E-010
	82
	0.66667
	-2.068E-025

	33
	0.66667
	1.1642E-010
	83
	0.66667
	1.034E-025

	34
	0.66667
	-5.8208E-011
	84
	0.66667
	-5.1699E-026

	35
	0.66667
	2.9104E-011
	85
	0.66667
	2.5849E-026

	36
	0.66667
	-1.4552E-011
	86
	0.66667
	-1.2925E-026

	37
	0.66667
	7.276E-012
	87
	0.66667
	6.4623E-027

	38
	0.66667
	-3.638E-012
	88
	0.66667
	-3.2312E-027

	39
	0.66667
	1.819E-012
	89
	0.66667
	1.6156E-027

	40
	0.66667
	-9.0949E-013
	90
	0.66667
	-8.0779E-028

	41
	0.66667
	4.5475E-013
	91
	0.66667
	4.039E-028

	42
	0.66667
	-2.2737E-013
	92
	0.66667
	-2.0195E-028

	43
	0.66667
	1.1369E-013
	93
	0.66667
	1.0097E-028

	44
	0.66667
	-5.6843E-014
	94
	0.66667
	-5.0487E-029

	45
	0.66667
	2.8422E-014
	95
	0.66667
	2.5244E-029

	46
	0.66667
	-1.4211E-014
	96
	0.66667
	-1.2622E-029

	47
	0.66667
	7.1054E-015
	97
	0.66667
	6.3109E-030

	48
	0.66667
	-3.5527E-015
	98
	0.66667
	-3.1554E-030

	49
	0.66667
	1.7764E-015
	99
	0.66667
	1.5777E-030

	50
	0.66667
	-8.8818E-016
	100
	0.66667
	-7.8886E-031
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Use program to get the convergence of Zn.
*
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	1
	1.5811
	51
	1.4043E-15

	2
	0.79057
	52
	7.0217E-16

	3
	0.39528
	53
	3.5108E-16

	4
	0.19764
	54
	2.0015E-16

	5
	0.098821
	55
	8.3267E-17

	6
	0.049411
	56
	4.1633E-17

	7
	0.024705
	57
	2.0817E-17

	8
	0.012353
	58
	1.0408E-17

	9
	0.0061763
	59
	5.2042E-18

	10
	0.0030882
	60
	2.6021E-18

	11
	0.0015441
	61
	1.301E-18

	12
	0.00077204
	62
	6.5052E-19

	13
	0.00038602
	63
	3.2526E-19

	14
	0.00019301
	64
	1.6263E-19

	15
	9.6505E-005
	65
	8.1315E-20

	16
	4.8253E-005
	66
	4.0658E-20

	17
	2.4126E-005
	67
	2.0329E-20

	18
	1.2063E-005
	68
	1.0164E-20

	19
	6.0316E-006
	69
	5.0822E-21

	20
	3.0158E-006
	70
	2.5411E-21

	21
	1.5079E-006
	71
	1.2705E-21

	22
	7.5395E-007
	72
	6.3527E-22

	23
	3.7697E-007
	73
	3.1764E-22

	24
	1.8849E-007
	74
	1.5882E-22

	25
	9.4243E-008
	75
	7.9409E-23

	26
	4.7122E-008
	76
	3.9705E-23

	27
	2.3561E-008
	77
	1.9852E-23

	28
	1.178E-008
	78
	9.9262E-24

	29
	5.8902E-009
	79
	4.9631E-24

	30
	2.9451E-009
	80
	2.4815E-24

	31
	1.4726E-009
	81
	1.2408E-24

	32
	7.3628E-010
	82
	6.2039E-25

	33
	3.6814E-010
	83
	3.1019E-25

	34
	1.8407E-010
	84
	1.551E-25

	35
	9.2034E-011
	85
	7.7548E-26

	36
	4.6017E-011
	86
	3.8774E-26

	37
	2.3009E-011
	87
	1.9387E-26

	38
	1.1504E-011
	88
	9.6935E-27

	39
	5.7521E-012
	89
	4.8468E-27

	40
	2.8761E-012
	90
	2.4234E-27

	41
	1.438E-012
	91
	1.2117E-27

	42
	7.1902E-013
	92
	6.0585E-28

	43
	3.5951E-013
	93
	3.0292E-28

	44
	1.7975E-013
	94
	1.5146E-28

	45
	8.9877E-014
	95
	7.5731E-29

	46
	4.4939E-014
	96
	3.7865E-29

	47
	2.2469E-014
	97
	1.8933E-29

	48
	1.1235E-014
	98
	9.4663E-30

	49
	5.6173E-015
	99
	4.7332E-30

	50
	2.8087E-015
	100
	2.3666E-30
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So final we choose the optimal n of Zn is 10.
∴ Zn converges on 
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